\\langan.com\data\PHL\data1\220104104\Project Data\CAD\04\SheetFiles\100 CD\220104104-D-1.dwg Layout: D-1.1 Plotted By: tgarrett, on Wed Feb 19, 2020 at 2:36pm

3 THK STL PLATE
W/ #” DIA ANCHOR
HOLE (3 PLACES)

ANCHOR BOLTS, TYP.

1"=1-0"

gn X 1 %n
i ) STL BAR
RECYCLED PLASTIC SLATS 1/2" X 1.1/2" S.STL.
( SHOWN W/ 3" X 4" ) CGE. BOLT W/ WASHER
& NYLON LOCKNUT
3/8" X 5 1/2" S.STL. s
HEX HD. CAP SCR. W/ e N
WASHER & NYLON LOCKNUT }
32 ¥ 7 N
21/2" sQ. X 1/4” [ 7~ | T
W. STL. TUBE / / | N
o o » ” T 14 GA
o 3" X 2" X 3/16" ~ 47 SQ. X 3/16 3 2 SPUN STL W,
3/8 X 2” S.STL. BIN. STL. ANGLE 3 , W. STL. TUBE A o COVER <
SKT HD LAG SCREW 10 > SO 3/8" THK.
W/ WASHER =73 " T I 8 >~ STL. PLATE # sa. x 3/16%. |
o ofg NN N /)ﬂ I =<;_ W. STL. TUBE %” SCH 40
3/8” THK. N NI S M M N STL PIPE
STL. PLATE I o | 1"£ &1" 1/4" X 11/2°_—1 (1 " oD)
=== \ 18" . »
- 4" SQ. X 3/16" W. ST BAR - 18" so—f ) (
18" STL. TUBE *S—4 SUB FLOOR* S—1 EMBEDMENT \\\m\g\g \\\m\g\g
*S—2 SURFACE* SIDE VIEW — =M H H IH " X J =M H H IH ]
sy gy Ey [ Sy
2 SEAT TABLE fﬁi SITE_FURNISHING NOTES: 1 E SESg= STL B JE H B B
L
e THE FOLLOWING NOTES APPLY TO SITE FURNISHINGS 2 THK q
80" SQ INCLUDING TABLES, BENCHES AND TRASH STL PLATE
: RECEPTACLES.
80 INSTALLATION OF TABLES, BENCHES AND TRASH .
5% 10 3+ 3 10 3"+ RECEPTACLES SHALL BE COMPLETED IN ACCORDANCE ©
WITH MANUFACTURER’S SPECIFICATIONS. A
FOLLOW MANUFACTURER’S SPECIFICATIONS FOR ALL i
ASSEMBLY. i gf Ag%
TABLE AND CHAIRS SHALL BE MODELS 76—PL—2—S—1 LINER
(2—SEAT TABLE), 76—PL—3-S—1 (3—SEAT TABLE),
. . AND 76—PL—4-S—1 (4 SEAT TABLE) AS PROVIDED BY X 17
| - 8 - 8 DUMOR SITE FURNISHINGS, WWW.DUMOR.COM, OR —STL BAR
— Q . Q N APPROVED EQUAL. BLACK FINISH.
™~ ™~ ” ” A ” i
7 = 7 ALL ALUMINUM AND STEEL MEMBERS SHALL BE SiTLXBAzR_\ TH B H . - TH B H 7 X33
2 COATED WITH ZINC RICH EPOXY THEN FINISHED WITH L L L ‘_} N N [L_ gy
POLYESTER POWDER COATING IN COLORS NOTED [ g ]\ | \\‘5412_ | il | R ~7J:FZ
ABOVE. RN %ﬂ* NN [ /
1" X 3 ¥ EXPANSION ANCHOR BOLTS ARE PROVIDED. | 20 1/4" @ ' X1 % 4000 PSI | H “/ s |2
| 24 3/8" ¢ STL BAR CONCRETE s
LOCAL SALES REPRESENTATIVE INFORMATION: | 11" THK STL PLATE
GENERAL RECREATION, INC. W/ {& DIA ANCHOR 3" MIN.
P.0. BOX 440 NEWTOWN SQUARE, PA 19073 A NOTES: HOLE (3 PLACES
\R \R PH: 800-726—4793,
ECYCLED PLASTIC SLATS ECYCLED PLASTIC SLATS FAX: 610—353—5161 1. RECEPTACLES SHALL BE MODEL # 438—32, AS MANUFACTURED BY DUMOR, INC. OR APPROVED EQUIVALENT 32 GALLON RECEPTACLE
( SHOWN W/ 3" X 4" ) ( SHOWN W/ 3" X 4" ) e S R O . CoM 2. ALL STL. MEMBERS COATED W/ ZINC RICH EPOXY THEN FINISHED W/ POLYESTER POWDER COATING, BLACK FINISH.
TOP VIEW TOP VIEW ' : : 3. 1/2" X 3 3/4” EXPANSION ANCHOR BOLTS PROVIDED.
3 SEAT TABLE 4 SEAT TABLE 4. ALL WELDS CONTINUOUS THEN GROUND SMOOTH.
5. RECEPTACLE FULLY ASSEMBLED AT FACTORY.
@ 1/2" = 1'-0" @
2 1/4”H 1', 72” 1L
STANDARD SERIES 3-ROW 15' BLEACHER
MODEL 1171-315G  3-ROW 15' STEEL A32
MODEL 1171-315A  3-ROW 15' ALUMINUM 2
o~
Standard Series designed for dependability and trouble-free maintenance. Featuring 8" <t
rise from row to row with nominal 10" aluminum planks and optional 2" x 6" ground sills I I I
4” SQ[ P T T
| A | A | A
® 4
;l'
I I I A42RU
~ L | A | A
PLAN VIEW 60"
(or 72" - add BA870AXL) .
SPECIFICATIONS: o
Bleacher Frames, Horizontal and Diagonal Bracing: Fabricated from 2" x 2" x 3/16" steel or |
aluminum angle. Frames are welded into a single unit. Frames may have optional 2" x 6" ground : -
sills at every point where frames are in contact with the ground. 14'—11" g ‘9
Standard Series Bleachers conform to the requirements of ICC 300-2012. N -
~— fo)
Seat and Foot Planks: Nominal 2" x 10" x 15’ extruded, ribbed aluminum. The edges and tops of (@]
planks shall be ribbed. The ribbed pattern, non-slip surface, is designed for safety and comfort. A\ 6” SQ
All exposed ends shall have aluminum caps fastened to the underside of the plank. Planks secure L )
to each frame with two friction-type aluminum mounting clips capable of securing the plank i,_
against movement under a horizontal force of 400 Ibs. All hardware is provided. _| | 9 / 9 / 0 ,
N
Einish: All fasteners shall be zinc plated. All welds shall be ground smooth. \ \
]
Date: 7/26/2017 PRODUCT NAME P v am - o -
Rev: A 3 ROW STANDARD 15FT 1-4 4|, 6 —1 4|, 6 —1 4|,
Drawn: BDYE MODEL NO.
ATHLETIC MFG. CO. -
Sheet: 1of 10 1171-315 ELEVATION VIE
PLAYING SURFACE
@ lu_q/_n
=170 5
‘©
d—

4

127 @9

Pole shall be constructed of 6" square, 3/16" wall structural steel tube suitable for a 39" in-ground installation.

45° extension arm shall be 6" square, 3/16" wall structural tube with a 4" square, 1/8" wall steel tube horizontal support and 1/4" thick steel
backboard support plate. Pole shall be designed so that rim mounts directly to pole to minimize stress on the backboard. Extension arm shall be
mounted by means of 6 each 5/8" grade 8 bolts. Pole system shall provide a minimum setback from the front of pole to front of backboard of 60".
System can be ordered with an optional 72" setback (BA870AXL) if desired. Entire pole system shall have a textured black polyester powder
coated finish and carry an unconditional lifetime functional warranty. Vertical pole shall be capped to keep out rain. Backboard shall be 42" x 72"
official-sized 1/2" clear unbreakable polycarbonate with a limited lifetime warranty. Polycarbonate shall be framed with aluminum extensions and
have a white border and shooter's square. Rim shall be the flexible type with official 5/8" diameter ring and one-piece net attachment. Rim shall
have a 1-year limited warranty and an orange powder coated finish. Installation to be completed in accordance to manufacturer's instructions. Do
not scale drawings. Entire system weight shall be 480#.

BASKETBALL POST AND HOOP

BISON BA873U-BK "=1'-0"

N =t

REVISIONS

ISSUE DATE

REVISIONS

1 03.06.2020

ADDENDUM 1

PENNSYLVANIA ONE CALL SYSTEM, INC.

925 Irwin Run Road

West Mifflin, Pennsylvania

15122 - 1078

BEFORE YOU DIG ANYWHERE IN
PENNSYLVANIA! CALL 1-800-242-1776

NON—MEMBERS MUST BE CONTACTED DIRECTLY

PA LAW REQUIRES THREE WORKING DAYS
NOTICE TO UTILITIES BEFORE YOU EXCAVATE,
DRILL, BLAST OR DEMOLISH

PA ONE-CALL NUMBER (FOR DESIGN ONLY):

PPR PROJECT
COORDINATOR:

NICHOLAS UPMEYER

LAND. ARCH. SEAL:

SIGNATURE

DATE SIGNED

JAYNE O. SPECTOR,
PROFESSIONAL LANDSCAPE ARCHITECT
PA Lic. No. LAO0O1000R

CIVIL ENG. SEAL:

PRIMARY
CONSULTANT:

LANGAN

Langan Engineering and
Environmental Services, Inc.
1818 Market Street, Suite 3300
Philadelphia, PA 19103

T:215.845.8900 F:215.845.8901 www.langan.com

SUB—CONSULTANT:

CHESTNUT ENGINEERING

Chestnut Engineering
2 E Lancaster Ave - 2nd FL.
Ardmore, PA 19003

Phone: (610) 642-1750
www.chestnut-engineering.com

CONSULTANT PROJECT NUMBER

SUB—CONSULTANT:

rodariguez

Rodriguez Consulting
1301 N 2nd Street
Philadelphia, PA 19122
Phone: (215) 839-8087

www. RodriguezConsulting.biz

CONSULTANT PROJECT NUMBER

CITY OF PHILADELPHIA

PHILADELPHIA PARKS AND RECREATION

1515 ARCH STREET

11TH FLOOR, ONE PARKWAY BUILDING

PPR PROJECT NUMBER

10-19-4395-01

PROJECT TITLE:

IMPROVEMENTS TO

MILES MACK PLAYGROUND

736 N 36TH ST, PHILADELPHIA, PA

DRAWING TITLE:

SITE FURNISHING AND
HARDSCAPE DETAILS I

PPR PROJECT NO.: DRAWING NO.:
10-19-4395-01
CONSULTANT PROJECT NO.:
220104104
DATE:
01/21/2020
SCALE: D - 1 1
AS SHOWN =
DRAWN BY:
YW
CHECKED BY:
TGS
NOTE:

ALL DIMENSIONS AND CONDITIONS SHALL BE VERIFIED BY THE
CONTRACTOR AT THE SITE BEFORE PROCEEDING WITH THE WORK.




	Sheets and Views
	D-1.1


